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QUESTION 1

Which three characteristics of SOA can make a business more agile?
A. Defining rules for business

B. Enforcing governance processes

C. Creating components that can be shared

D. Maintaining up-to-date application interfaces

E. Building applications from reusable components

F. Changing the implementation without affecting the consumers

Correct Answer: CEF

QUESTION 2

What demonstrates one of the key principles communicated by the IBM SOA Reference

Architecture?

A. Business processes can be modeled in parallel with the services they rely on.

B. Services are implemented using the Enterprise Service Bus (ESB) and exposed to service consumers.

C. Business process developers need to communicate effectively with Enterprise Service Bus (ESB) developers.

D. Changes in service implementations require changes in the service interface which should be reflected in the service
registry.

Correct Answer: A

QUESTION 3

Which advantages does the Enterprise Service Bus (ESB) have over point-to-point solutions?
A. Flexibility and cost

B. Redundancy and agility

C. Performance and scalability

D. Versatility and adaptability

Correct Answer: D
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QUESTION 4

When services are identified based on isolated applications rather than the business, which
problem may result?

A. Rogue Services

B. Duplicate Services

C. Shelfware Services

D. Application Services

Correct Answer: B

QUESTION 5

What describes a task within a modeled business process?

A. The description of steps required to complete a unit of work

B. Each task represents a work item performed by a system or human

C. The transition that takes place for the business process to continue

D. When a human completes a task it is marked complete allowing the process to proceed

Correct Answer: B
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